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GENERAL INSTRUCTIONS :
1 el FurEye O Vsl H 8 S |
. Candidates are required to give their answers in their own words as far as

practicable.

2. = v d ot T vE W e F ! el # SR & A 6
gy R -1 (3EE ) —20 FF
i s -1 (7 ) — 18 F
i) R -1 (AT ORE ) — 18 3%
v)  EEE —1v ( 3RTE ) — 16 H
v e —v (3R WEEE ) — 08 IH

This question paper consists of five units and all questions in all units are

compulsory. 5

i) Unit - | ( HISTORY ) — 20 Marks

11) Unit =11 ( GEOGRAPHY )| — 18 Marks

iii) Unit =111 ( CIVICS | — 18 Marks

iv) Unit - IV ( ECONOMICS ) — 16 Marks

v) Unit - V ( DISASTER MANAGEMENT ) — 08 Marks.

3 e 99 % 3% 39% 9 Hiwa e
The figures in the margin indicate full marks of the questions.
4. W IR et & a faw o R & e A @ S
Answers of the questions must be in the context of the instructions given
therein,
5 W e O HEvEE 8, @ e @iy |
. Draw neat and clean diagrams wherever necessary.
6.  v9-GE-IX qfea § & 4@ " KU gl €|

The outline maps are given in the Question-cum-Answer Booklet itselfl.
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1. What do you understand by Absolutism ? (| Answer in 30 30 words ) 1
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Q. 2. What steps did the French revolutionaries take to create a sense of
ccHectwe entity among the French people ? ( Answer in 60 - 80 words |
3
OR
Rats were most common in’ the modern, newly built areas of Hanoi.
Explam ( ﬁnswvgtr in 60 - 80 wurds ) o 3
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aQ, 3. Write a short note on the Khilafat Movement. ( Answer in IGQ - 125
words | = = 4
OR
Why is growth of nationalism in the Culnn_ies/l,iﬂkcd to an anti-colonial
movement ? Explain. ( Answer in 100 - 125-Wwords ) 4
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3
What is meant by 'Veto

? The post-war international economic
system is often described as the Bretton Woods system. Why ?2
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Q. 5. Why did industrial production in India increase durmg,the First World
War ? ( Answer in 60 — 80 words ) o 3
OR o
What forms of entertainment came up in ninefeenth century England to :
_. provide Jeisure _activities for the people 2 [ ‘(Iq'-mer in 60 — 80 words ) 3 I
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Q. 6. What were the effects of the spread of print culture for poor people in
nineteenth century India ? Discuss. ( Answer in 100 - 125 words ) 4
' OR
Social changes in Britain led to an increase in women readers. Explain.
( Answer in 100 - 125 words ) 4
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In the given outline map of world mark the following places : | Use the
map given en Page No. 10 %]
(a) London

(b) Europe.
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Unit - II ( Geography )
U | 8. IE 3 (9 UHR & TEE € 7
(%) HdeRor A (@ vAE
(m = (9) S G| 1
Q. | 8  Which type of resource is iron-ore ?
&Y Renewable (b) Flow
(c) Biotic (d) Non-renewable. 1
i IN;
TR | &1) Haldb~al dlde| |
Ans. Z

q| 9. HHAeEs 3 9 F9-91 38 :r|4 ”UF_"?[“‘JTHT?WWETW
e-dTE &9 | IS M 8 2
(F) T F (@)  IE9T HN il
(M) SrEE ()  TEA F| 1
Q. 9. Which one of the following describes a system agriculture where a
single crop is grown on a large area ? ;/
(a) Shifting agriculture (b) Plantation agriculture
(c) ..\HDrEiculLurc ! (d}) Intensive agriculture. 1
| ). wrHE e
Ans. T
.__‘\ F__,-*'#..
(L ,
e
Uv| 10, WETE T e Fee FefeiEs § | 5 3 o e SRS € 2
(%) dEe (@) FIF
(M) e FEE= () & 1
Q. 10. Kodarma, in Jharkhand, is the leading producer of which one of the
following minerals ?
(a) Bauxite (b) Mica
(c) Iron-ore - (d) Copper. 1
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11. How do industries pollute the environment ? ( Answer in 60 - 80 words )

3

OR
Why are the means of transportation and communication called the
h{e -lines of a nation and its economy ? { Answer in 60 — 80 words | %]
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Q. 12. What is water scarcity and what are its causes ? { Answer in 100 - 125
words | =4 o 4
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Q. 13. How have the technical and economic development led to more
consumption of resources ? ( Answer in 100 - 125 words | 4
OR
Describe the suitable geographical conditions required for the growth of
rice. [ Answer in 100 -125 words | 4
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14. (a) Show the following in the given outline map of India : ( Use the map
given on Page No. 16 Lk
{if Thar desert
(ii) The eastern coastal plain.
(b) Study the outline map of India given on Page No. 17 carefully and
name and identify the places which are indicated by (a), (b), (c)

and [d). Vo Y+ Vi + Y
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THTE - 11 ( AT 91 )

Unit - III ( Civics )

U | 15, FISE H G Wel UK H AR e T H AR :
FAR SV 0 SR H AR eeeerennn, & ffd 7 T2 gur g &)
( e, "igema ) | i
Q. 15. Fill in the blank with correct word given in brackets ;
In our country, the condition of ................... has improved to some extent
since independence. | men, women | ; 1
Ty & i fon = o 5! Pt B i i~
e [EH9YY <98 S4is)=] b Fle HIE | | chl
Ans:| L —. - o 'S
| m ™ 5 e e w gl
-h e = '\ i ‘F:"
T 16. H3F H F Tal ¥ Fl g e &= F1 4R
faftiys yot ¥ et f9n, 3mest 3R 95T e © 0% e e
A £ | ( TR, 992 ) 1
0, 16. Fill in the blank with correct word given in brackets :
Ideas, ideals and values drawn from different religions can and perhaps
should play a role 1n ... ccoonvieesrins :
| politics, parliament ) ' il 1
e e "‘\i"v o p— ""1| o~ _ 3 |l"" By
T [ SVH=— BT s+ =ene] 9l Hie] HATy '{;I' ce
ns. Eoaa oy ; el s == e
Q o | =117 = I i S S R RS Fsfzd g st s e e |
—_— = - '
e | 17, FreE d § gl 1 ST ok W w1 AR
YR i fquntae § Gieensti F1 9T TGT & oo B
( few, &9 ) 1
Kok 17. Fill in the blank with correct word given in brackets ;
In India, the proportion of women in legislature has been
1 s L .| high, low ) i o 1
It | HIEA bl == =Tch ] A e l:; ol | 2] a1 Si-g Y A
ﬁ/ﬁhx ~ ,{{
G\/f =FEds é | L’hi/ e
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Uy | 18, gmTEe Ay g @t @ et @ wwifad s € 2 57 Sseeor |t '
T | ( T 60-80 TR H S| ) : 3
Q. 18. How do social divisions affect politics ? Give two examples also. :
( Answer in 60 - 80 words ) 3 -
3T
Ans. - . . Ll
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e i
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: = o i
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= r[ &= l_“|' r*;—-[ =+l = o [ J] HTAa41T 3T
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( 37X 100- 125 YR A 1 ) 4
Q. 19. Discuss about the power sharing arrangements in Sri Lanka,
( Answer in 100 - 125 words | 4
: OR
Discuss the salient features of federal form of Government in India.
({ Answer in 100 - 125 words ) 4
I = ald |
Ans. o 8 ~ = ™
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Q 20. What is the difference between a pressure group and a political party ?
[ Answer in 100 - 125 words | <4
OR
Suggest two reforms to strengthen political parties, so that th perfurm
their functions well. ( Answer in 100 — 125 words ) e

Ans.
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Q. | 21.

“HreRdd 39T AN o 5= A ® SFEEE] F F5 T8 FT gwar)’

EDE
HRA H i SRl &1 == Hi | (3T 100 - 125 IS F 31 )

4
"Democracy cannot reduce inequality of incomes between different

Give two arguments supporting this. ( Answer in 100 -

125 words ) 4
' OR

Discuss the democratic rights in India. ( Answer in 100 - 125 words) 4

citizens."
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THEE - IV ( edymer )
Unit - IV ( Economics )

WO | 22, Wi =HTE o H AT T REGA & 2 ( ST 30 VS H 21 ) 1
Q. 22. What do you understand by per capita income ? ( Answer in 30 words ) 1
I | =S lich 1 | === [ & Cj_? | H Fal) oh | ‘fj;](—i'
Ans - . i e = "'_-:." -

e P e R = ~H =12 1 R o R
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Sd Gldealda B2 oeoTdar &

o g

) -

\ b

YA | 23, YRS H SUNRH  IEIeH 0 YOS fhd HROT 9 g ?
(ST 60-80F=I H < ) 3
Q. 23, What factors gave birth to the consumer movement in India ?
( Answer in 60 - 80 words | o
E13ES
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Q. 24. How is the tertiary sector different from other sectors ? llustrate with
example. ( Answer in 100 - 125 words )
o
3T
Ans, ol e o T = o
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o e i
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Q. 25. What are the reasons for which the banks might not be willing to lend to
certain borrowers ? ( Answer in 100 - 125 words ) 4
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(2, 26. What are the various ways in which MNCs set up or control production in
other countries ? | Answer in 100 - 125 words | : 4
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TS - V ( ATIET Weue )
Unit — V ( Disaster Management )

W | 27. G & T U v w6 fEfE ) (SR 30 vt H E ) ) 1
Q. 27. Write any one effect of Tsunami. | Answer in 30 words | 1
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Q. 28. What is the main objective of Search and Rescue team ?
-~ Answer in 30 words | = 1
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WA | 20, TSE-RERT YeeEe 1 E 2 T el ] SUERT o 3oeTE i |
(W 60-80 ¥R H 51 ) - e
0. 29. What are Geo-stationary satellites ? Mention any two uses of the same.
( Answer in 60 - 80 words )
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I | 30. 3MUET WEUH o [HIAU H % TEN HI o] i § 2
(W 60-80V= T T ) 5
Q. 30. What is the role of Central Government in controlling disaster
management ? ( Answer in 60 - 80 words ) 3
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